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W %Y DYy FYIRAT P 3909%9 FRTYPIE990%9%
=g va B E A W4 | #% | GROSS | HDCP NET %8
7 BHES ZT 42 40 82 10.0 72.0
EEEHHF EH 42| M 83 9.0 74.0
MliEis Hz 43| 43 86 10.0 76.0
AL | B 45 43 88 12.0 76.0
SI|=H FHi 39 46 85 8.0 77.0
6hr|fi AR ZEX 39 44 83 6.0 77.0
hijfEAR K= 41| 46 87 10.0 77.0
ShIjtlRA B 45| 44 89 12.0 77.0
Ofr|=iF K#t 371 41 78 0.0 78.0[~ Az
1067|fESF =42 40| 40 80 2.0 78.0
TEL|FT W 41| 45 86 7.0 79.0
124525 Bah 41| 43 84 5.0 79.0
136z|ILUfE  #REE 41| 40 81 2.0 79.0
4GLER FX 46| 43 89 10.0 79.0
15415 {858 47| 44 91 12.0 79.0
164:z{chih 53] 35 48 83 3.0 80.0
1746|B  FiE 41| 50 91 11.0 80.0
18HIffA KR  H 42| 48 90 10.0 80.0
196L|7k# &2 43| 49 92 12.0 80.0
0GR HEZ 46| 46 92 12.0 80.0
21462011 FX 42| 41 83 3.0 80.0
221 1E%y H— 45 48 93 12.0 81.0
236 &R 45| 46 91 10.0 81.0
2461/ J&HH 49| 43 92 11.0 81.0
250L|FRAR  BEERK 45| 49 94 12.0 82.0
266I)EN =T 46| 48 94 12.0 82.0
216I|RER FRE 42| 44 86 4.0 82.0
28GI/N R IEAN 42| 51 93 10.0 83.0
2007 |FH  HEE 44| 51 95 12.0 83.0
30fI|fA K K— 43| 48 91 8.0 83.0
SIALERE &k 45| 50 95 12.0 83.0
2|l BBk 45 50 95 12.0 83.0
BLL|EH EH 46| 47 93 10.0 83.0
AGI|B L fEE 45| 46 91 8.0 83.0
5fIiE HREF 43| 51 94 10.0 84.0
6HRIIAAR RE 40( 46 86 2.0 84.0
STHL|LRE M= 45 49 94 10.0 84.0
3BLI|HFH  E) 43| 46 89 5.0 84.0
9Gr|dbiE =it 49| 45 94 10.0 84.0
0G| REH E=E 46| 48 94 9.0 85.0
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ARG CIE-:] 48] 47 95 10.0 85.0
46)0Na & 46| 42 88 3.0 85.0
AL E— 50 40 90 5.0 85.0
Mf|EAR F 44| 52 96 10.0 86.0
ASfI|fEH BX 47| 48 95 9.0 86.0
46fir|lx FE B 48| 47 95 9.0 86.0
Alfz|HF 2 45 52 97 10.0 87.0
ABGSL|FaHT  HH— 43| 48 91 4.0 87.0
A9GI|HAR B 42| 45 87 0.0 87.0
S0LFTH AR 48| 51 99 12.0 87.0
SIGIIAAR Rk 47| 52 99 11.0 88.0
27| T Bt 50 50 100 12.0 88.0
S53BL{IRER  BAFK 50 50 100 12.0 88.0
SAfI|fkE BEX 49| 52 101 12.0 89.0
S5GI|mF H— 47| 50 97 8.0 89.0
S56fI|F%x FE2 50 47 97 8.0 89.0
S1fr|fast ZE 52| 47 99 9.0 90.0
8fI|EH F&HF 55| 50 105 12.0 93.0
S9fIjiEO & 45| 56 101 6.0 95.0
60GI|HE =E=if 50, 55 105 10.0 95.0
61|k A 48| 62 110 10.00 100.0
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